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Math

primary 6 - first term

c October Questions Bank

Question 01 Choose the correct answer

ONONONGOEBONONONOBONONONSC,

The coefficient in the expression 6d+2is............

@ 6 ® d ©

The smallest number from the following is .........

@ of ® 0101 ©

The greatest negative integer is ..........occccce.

@ ® - ©

g 2

et =5; .............. 9

® = ® 2 ®

3(5+4)=(3x...)+(...x4)

@ 53 ® 54 ©

The opposite of the number15is..............

@ 15 ® |15 ©

The additive inverse of | - 4| is...............

@ 4 ® 14 @

Which of the following are relatively prime numbers

@ 26 ® 321 @

The LCMof Sand 1Sis ..........occ...

@ 5 ® 15 O]

The GCF of Sand 15 is ..o

@ 5 ® 15 ®©

The common factor of all number s ...

@ o ® 1 ©

The GCF of any two different prime numbersis ..............

@ o ® 1 ©
: OO0
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0.3

-1000,000

3.4

|-151

|-41

8,15

100

The smallest
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The LCM of any two different prime numbersiis ..............

@ | @ The product of

them

The dividendin321+12=26R9 s ..........

@ 32 ® 12
The divisorin321+12=26R9is............

@ 321 ® 12

Which of the following is nearest to zero ?

@ 5 ® -

The number -3.5 in the form % 15T
7 3
® ! ® !

Which of the following is the greatest number ?

The smallest

The greatest

number number

26

26

35
10

0 WP 03 @ OO0 [ONECINENC)
( : |
@ ® @®@ ®@ ®& & @ @

@ -53 ® -35 35 53
Which of the following is the smallest number ?

@ -32 ® -23 -0.5 -0.01
The best subset for the number -3is............

(@ Counting numbers (®) ?3&;?::3 Integers :zt:[)aelﬂrs

The best subset for the number 5is ...

O
O,
@
29
@)
@
@
@9
@
@9
@)

© fne @ M © s © P

The best subset for the number 5.2 s ................

@ Counting numbers @ EtajtlTi:JQ:rls @ Integers @ :z::firs

The Set of counting numbers ... The set of rational numbers

(@ Belong (®) not belong (© subset @  Not subset

The Set of integers................. The set of natural numbers

(@ Belong ® not belong ©  subset @  Not subset
= Ca— The set of rational numbers

(@ Belong ® not belong (© subset @  Not subset
g ..................... The set of counting numbers

® not belong (© subset (@ Not subset
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..................... The set of natural numbers

(@ Belong ® not belong (© subset

The distance between -6 and its opposite on the number line is ..............

@

Not subset

@ 6 ® -6 © 1© 12

| -15 | =0 then mis .2

@ -5 ® 15 (© Bothab neither
Dx 1= 5 /Ehei x = ...

@ -5 ® 5 (© Bothab neither
The number of terms in the expression 6d+2-5n+4is.. terms

@ 1 ® 2 © 3

The like terms in the expression 2f+2-2k-8is ...

®@ ® ® ® 6 @& 0 @

® ©@ ® ©® ® © @ ®

@ 2f,2k ® 2.8 © 2.2k 2F, 2
The constant in the expression 6d+2-5nis...
@ 6 ® d (© 5n 2
2 1 2 5
— i ==l T i
7 7 74 7

7 10 8 3
OF Cs o - 13
3 1
B " =5 oo R
6 2

Which of the following is numerical expression ?

©
@ 3(6d+5) ® 8+6 © 2n-9 @ 4-h
Which of the following is algebraic expression ?
(@ 4(6+5) ® 4-1+2 © 20:9 @ 3h

The integer which comes just after -1is ............

@ o ® f © -2 @ -
The opposite Venn diagram represent prime factorization @
of two numbers then GCF of them is ..o

@ o ® 1 © 5 @ 2

® © ®

©
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All counting numbers are also ...

(@) natural numbers  (B)  Rational numbers Integers @ Al of them

@ 1-999| ® 1-9] |-100 | @ I-51

S(8+....)x7is anumerical expression .

@ d ® 4 5 @ 19+n

S(8+....)x7is a algebraic expression .

@ 5 ® 5m 1842 @ 13

The verbal expression for 2x + 4 is ........cccoueree

@ 2 multiplied by x decreased by 4 2 multiplied by x more than 4

(©)  Double a number x increased by 4 Double a number b increased by 4

@
@
@
2
D
The verbal expression for S(m = 3 is ......cccovvceres
@

The difference between m and 3 multiplied
by 5
The product of m and 3 multiplied by 5

(@  5multiplied by m decreased by 3
(©)  The sum of m and 3 multiplied by 5
Adding 5 to third a number = .................

@ 5+3« ® 3x+5

The integer that is one less than Qs .............

@ o ® 1 © -2 @ -
The opposite Venn diagram represent prime factorization d‘D
of two numbers then the two numbers are............ccmnenn

@ Prime ® Relatively prime (© 0dd @ even

The smallest positive integer is ...

©@ ®@6® 0660 @ ©® 6 O

1x-5 @ x5

The smallest non-negative integer is ..o

The greatest non-positive integer is .......coccc....
The opposite Venn diagram represent prime factorization
of two numbers then LCM of them = ...

The integers between -5 and -1are...........ocvrvenrnee.
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=] W 5 e e J=(5x4)+(5x3)
4410=2 (. F reieBmsenrenss )

6 -20a

Thlt: oppossite of the number SO is .....cccoveerrreneree
THhe LEM @85 atid 7 1 ...0 s ot cssssivsniom
The GCF of Sand 7is ...,
The GCF of 8 and 9is .....cccccvrrecsrres

The LCMof 8 and 9iS oo,

.............................. is a multiple of all numbers .

................................... is a Factor of all numbers.

The quotient in 321 + 12 =26 R is ......coovrverereecrrrene

The number -2.5 in the form % el o

The opposite OF ZEr0 IS ..........vcccvvvrecesreersssnsssssssisssens

The smallest positive integer is ........orereseecerrenee

The opposite Venn diagram represent prime factorization @
of two numbers then GCF of them = ..........coccccrrrccessn.

515 TSk ....... L LS ..

The smallest counting numberis.................

The smallest natural numberis. ...

The number of terms in the expression 6h+2d -3 XS c.ccccevccrrrenene terms

The opposite of the number -8.21 is ...

The opposite of the number 8.2 is.....oreerresseerrees

The two integers that -5.6 is lying between them are............oc.... 5111 RPN -0,
The two integers that % is lying between them are............c.... =Y 2T [ S
The integer which comes just before -9 is ...

...................................... is one more than -5.

Joj o JUA Jo DilhLiiallg GilSasll le Jguanll psidoy
. "o agasa /1 - jusioll" @ram JUA jo gl OR Code ]
il aic §ginoll Laala @gaa dlclyo (ap @



Math

primary 6 - first term

=
==
(]
=
(0)e]
0]
(on
et
2
(g]
]
x
©
=
(1]
wn
o,
(o]
>
o
-
[«)
>
[
3
(on
(1]
=
o
w0
w
=
>
(Y]
=
(o
&

The algebraic expression of a number 1€s5 5 IS ........ooereecrerreseeren
The coefficient in the expression =5d + 3 iS ...
The prodoct of S afid & nUR Ber IS
e .
The additive iNVerse of =B is ...
Compare using (<,>or =) J
O) =i D g
2 B =~ e 0
©) |-12 | S 12
@ g , N . Any negative integer
@ O e e Any positive integer
® 25 T >
@ — o P U -12
a2 BT 26
O) 52y Vil 6
50 " i 1-501
@ " 2 R S i & The additive inverse of 9
(12) 802 T e -100
(D) 08y, T LD i 0.6
2 LB ¥ ik 151
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Answer the following J

Arrange the following integers ascendingly :
-9,-12,20,0,-6,1,1-121

Mohamed has x pounds . he bought a book for 60 pounds . write the algebraic expression
of how much money with him now .

............................................................................................................................................................

Layan ate n sandwiches and Jana ate 5 sandwiches . if the price of one sandwich is 4
pounds . write the algebraic expression to find the price of all sandwiches .

my
=
o
=
7%
S
®
(]
=X
QU
=
o
-]
o
3
, =
=
(on
®
-~
w
(o
®
®
b3
®
®
=
;N
Q
-]
o
vi|w

...........................................................................................................................................................................................

Karem saved e LE . Zyad gave him 40 LE . write the algebraic expression of how much
money with him now .

<
)
<
o
o
5]
c
(s]e]
=
=
(%)
Ul =
=
o
o
)
o
b}
o
=
o
®
)
3
=
HJ—\
S
=
o
o
-
)
=]
=B
)
=3
S5
Y
L
=
L8
—
)
/28
o
o
L
3
)
n
b7
o
)
iy
5
3
=

®

Represent -2% on the number line .

k3 27 1. %0 1o 2473
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@ A class has 20 boys and 12 girls . Mr Mahmoud Elkholy want to distribute them into equal
groups . What is the greatest number of groups 7, How many boys and girls in each group
? then write the expression which represent that .

.....................................................................................................................................................................................

® From the opposite Venn diagram : b
a- Thevalueof b = ...
b-The value-0fD= ... 0 uuns
C- The GCF = oo
d-The LCM = ...

Represent (-5,-3,0,-6,2) at the number line..

-7 6 -5-4-3-2-101 2 3 4
@ Find the LCM and the GCF of 18 and 24, using venn diagram .

calll 2pay pi
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Choose the correct answer

The coefficient in the expression 6d+2is............

@ 6 ® d ©

The smallest number from the following is ........

@ o ® o0 ©

The greatest negative integer is ..........oocccc.

@ 1 ® - ©

g 2

Rt =5; .............. »

® = ® 2 ®

3(5+4)=(3x...)+(...x4)

@ 53 ® 54 O]

The opposite of the number15is............

@ 15 ® 1151 ©

The additive inverse of | - 4| is...............

@ 4 ® 14 @

Which of the following are relatively prime numbers

@ 26 ® 321 @

The LCMof Sand 1Sis ...

@ 5 ® 15 ©

The GCF of Sand 1S is ...........cvv.

@ 5 ® 15 ®©

The common factor of all number s ..........

@ o ® 1 ©

The GCF of any two different prime numbersis ..............

@ o ® 1 ©
: OO0
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The LCM of any two different prime numbersiis ..............

@ | @ The product of The smallest The greatest
them number number

The dividendin321+12=26R9 s ..........

@ 32 ® 12
The divisorin321+12=26R9is............

@ 32 ® 12

Which of the following is nearest to zero ?

@ 5 ® -

The number -3.5in the Form 15T
7 3
® ! ® °

Which of the following is the greatest number ?

26

26

35
10

O Wp 02 0 0 [OEEOIENC
|
@ @ @ ® @& . @@ 6 e

@ -53 ® -35 35 5.3
Which of the following is the smallest number ?
@ -32 ® -23 -05 -0.01
The best subset for the number -3 is ..................

) Rational natural
(@ Counting numbers (b) B - Integers -

The best subset for the number 5is ...

® pomber ® pompas  © hees @
The best subset for the number 52is ...

@ Counting numbers @ sz%(g];’ls @ Integers @ :E::Z:I'rs
The Set of counting numbers ... The set of rational numbers

(@ Belong (®) not belong (© subset @  Not subset
The Set of integers ..o The set of natural numbers

(@ Belong ® not belong (© subset @  Not subset
= S The set of rational numbers

@ Belong ® not belong (© subset (@)  Not subset
g ..................... The set of counting numbers

@ Belong ® not belong (© subset (@ Not subset
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..................... The set of natural numbers

@

(@ Belong ® not belong (© subset Not subset
The distance between -6 and its opposite on the number line is ................

@ 6 ® -6 © 1° 12

| -15 | =0 then mis .2

@ -5 ® 15 (© Bothab neither

Dx 1= 5 /Ehei x = ...

@ -5 ® 5 (© Bothab neither
The number of terms in the expression 6d+2-5n+4is.. terms

@ I ® 2 © 3

The like terms in the expression 2f+2-2k-8is ...

®@ ® ® ® 6 @& ® @

® ©@ ® ©® ® © @ ®

@ 2f,2k (b)), 245 © 2.2k OF 72
The constant in the expression 6d+2-5nis...
@ 6 ® d © 5n 2
2 1 2 5
— i ==l T i
7 7 74 7

7 10 8 3
O o — o _ 17
3 1
B " =5 oo R
6 2

© 1 @ 3
Which of the following is numerical expression ?
@ 3(6d+5) ® 848 © 2n-9 @ 4-h
Which of the following is algebraic expression ?
@ 4(6+5) ® 4-1+2 © 20:9 @ 3h

The integer which comes just after -1is ............

@ o ® f © -2 @ -
The opposite Venn diagram represent prime factorization @
of two numbers then GCF of them is ..........coocevereee.

@ o ® 1 © 5 @ 2

® © ®

©
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All counting numbers are also ...

(@) natural numbers  (B)  Rational numbers Integers @ Al of them

@ 1-999] ® 1-9] |-1001 @ 1-51
S(8+....)x7is anumerical expression .

@ d ® 4

@
@
@
@4) 508+...)x7isa algebraic expression
D

o

®
©
+
S5

@ 5 ® 5m 18+2 @ 13

The verbal expression for 2x + 4 is ......cccccveve.

@ 2 multiplied by x decreased by 4
@ Double a number x increased by 4

2 multiplied by x more than 4

Double a number b increased by 4

The verbal expression for S{m - 3} is ...

The difference between m and 3 multiplied

by 5
The product of m and 3 multiplied by 5

(@  5multiplied by m decreased by 3
(©)  The sum of m and 3 multiplied by 5
@ Adding 5 to third a number = ...
@ 5+3 ® 3x+5
The integer that is one less than Qs .............
@ o ® 1 © -2 @ -

The opposite Venn diagram represent prime factorization d‘D
of two numbers then the two numbers are............ccmnenn

©@ ®@6® 0660 @ ©® 6 O

1x-5 @ 1x45

(@ Prime (® Relatively prime (©) 0dd @ even
Question 02 Complete )
The smallest positive integer is ... | P-4
The smallest non-negative integer is ........... B....5%

The greatest non-positive integer is ............ ...
The opposite Venn diagram represent prime factorization
of two numbers then LCM of them = ............... 5 e B

The integers between -5 and -1are .....-4,-3,-2.....

The number of integers between -5 and -1are .....3.....
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S(.3u 4.l )=(5x4)+[5x3)
4+10=2(...2..+..5..)

The GCF of S5and 7 is ...l

The GCF of 8and 9is ......1...........
The LCMof 8and s ....72............
864 + 24 = .....36.......

...... 0.......is a multiple of all numbers .

...... I......Is a fFactor of all numbers .

984 :+5=...196R4.......
The quotientin 321+ 12=26R9is .....26.....
The number -2.5 in the form % ST 4 - % ..........

The opposite of zero is ......0...........

The smallest positive integer is .....I.......

The opposite Venn diagram represent prime factorization @
of two numbers then GCF of them = ... & ool
|-181x0=....0...

The smallest counting number s .......I........

The smallest natural numberis.........0........

The number of terms in the expression 6h+2d-3xis....3.....terms
The opposite of the number 1-821 is ....-8.2.......

The opposite of the number 1821 is....-8.2.....

The two integers that -5.6 is lying between them are ...-5...and ...-6...
The two integers that % is lying between them are ..2...and ..3...

The integer which comes just before -9 is .....-10.....

......... ~4...........i1s one more than -5 .
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All integers are also ........rational............. numbers

Twice the difference between a number and 6 is ...2(x-6)..........
5-32=.32..

The constant in the expression 5f + 2b + 3 is .....3.......

The algebraic expression of a number less than 5 is........... D
The algebraic expression of a number less 5 s ........x-5.......

The coefficient in the expression -5d + 3 is ......-5.......

The product of 5 and a number tis .....5E...........

=6 c8=".. 8.

PPOOOEO®®Ee ®

The additive inverse of -6 is .....6.........

O 4 < 1

@ -100 < 0

©) |12 R 12

@ 0 > Any negative integer
@ 0 < Any positive integer
(6 25 = :

® - =
(® 242 < 26

O 5.245 < 6

() -50 : -1-501

@ -5 > The additive inverse of 9
12 32.02 > -100

13 08 < 0.6

14 -(-5) > -1-5]
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Answer the following J

@ Arrange the following integers ascendingly :
-9,-12,20,0,-6,1,1-121

-12,-9,-6,0,1,1-121,20

Mohamed has x pounds . he bought a book for 60 pounds . write the algebraic expression
of how much money with him now .

X-60

Rozana paid 3,888 pounds to buy 24 candies . find the price of each box .
3,888 + 24 =162 pounds
Find three rational numbers between 3.5 and 3.6

4.51, 3.5 2353
2

Find three rational numbers between .

21 2223

50'50 ' 50

The price of 12 pens is 408 LE , find the price of each pen.

408 12 =34 LE

Layan ate n sandwiches and Jana ate 5 sandwiches . if the price of one sandwich is 4

pounds . write the algebraic expression to find the price of all sandwiches .
4(n+5)

3
and =

@0 O ONE 6

If Yousef is x years old now . write the algebraic expression of his old after 6 years ?
X+6

Karem saved e LE . Zyad gave him 40 LE . write the algebraic expression of how much
money with him now .

e+40
Maya bought 3 % kg of orange and 413—0 kg of apple . what is the total mass of them ?
L kg
5° 10 2

® 6@ ©

Represent -2% on the number line .

22
—3 42 =59 0851 527 3
: 000 e ol U )
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@ A class has 20 boys and 12 girls . Mr Mahmoud Elkholy want to distribute them into equal

groups . What is the greatest number of groups 7, How many boys and girls in each group
? then write the expression which represent that .

The greatest number of groups is 4 q 2\ 20 12
The number of boys is 5 4

The number of girls is 3 4 e

The expression is 4(5+3) &) &

From the opposite Venn diagram : B
a- Thevalueof b = .....10......

b- The valueof c =.....6......

c- TheGCF = ....2.......

d-The LCM =....30...

Represent (-5,-3,0,-6,2) at the number line..
S R e
-7 6 -5-4-3-2-101-2 3 4
Find the LCM and the GCF of 18 and 24, using venn diagram .

LCM = 3x3x2x2x2 = 72 18 \ /24

GCF=2x3=6 \d
18 24

DD s udn

< alll apay pi
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